TITAN OP

Titan Opal

See below

MARLOW INTEGRATED DESIGNS

& EAVD

A high quality, cost effective LED downlight with a shallow profile and IP65 rating. The E4 & E6 (830/840) are stock

options. Other options available to order.

. ________________________________________________________________________________________________________________________________________________________________|
- Reflector Options: Opal with 80° beam angle

= A range of lumen outputs from 1300-3700Im

= Colour Temperatures: 3000k - 4000k

- Colour: White (/WH)

- Available with Dimming (/STD/DALI/SDIM/MDIM)

=Wireless Control (/WI)

= Available with Emergency (/ME3/ME3-ST/ME3-PRO)

- Wireless Emergency (/ME3-WI)

- |P Rating: IP65

= Cut-Out Dimensions: (Diameter) - See Table Below

- Depth: E4 - 80mm

= Depth: E6 - 92mm

= Depth: E8 - 102mm

emergency

self test emergency

addressable emergency

MID/TTN/OP
Product Recessed TITAN Downlight
Light Source LED
System Power /16W /22W /40W
Luminaire lumens (4000K) 1300Im 2200Im 3700Im
Size E4-147mm E6-208mm
Cut-out E4 -127mm E6-175mm
Dri /STD /DALI /SDIM /MDIM /WI
river Non Dimming DALI Dimming Switch Dimming Mains Dimming Wireless Control
Colour /830 /840
Temperature 3000k 4000k
/WH
Bezel Colour White
Reflector /oP
Options Opal
/ME3 /ME3-ST /ME3-PRO /ME3-WI
Emergency Three hour maintained Three hour maintained Three hour DALI Three hour wireless

addressable emergency

To Specify: TITAN E6 LED, 22W, 2200Im, 4000k,LED downlight finished white supplied with an opal reflector and Standard Conrtrol Gear.
Part code: MID/TTN/E6/22W/2200Im/STD/840/WH/OP

Due to ongoing research and development specifications are subject to change without prior notice. Some availability subject to minimum order. All luminaire lumens are 4000k colour temperature readings.

01268725086 | www.midlighting.co.uk | sales@midlighting.co.uk
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